Water resources summative assessment rubric for GRACE questions

(b)
	Component
	Exemplary
	Basic
	Nonperformance

	Total change in WEH over the period of record [2 points]

	2 points:
Correct numerical answer
AND
Expresses answer in cm
	1 point:
Correct numerical answer but expresses answer in unit other than cm
AND/OR
Incorrect numerical answer but shows work with an accurate workflow (i.e., computational error)
	0 points:
No response provided 
OR
Incorrect numerical answer with no work shown
OR
Incorrect numerical answer and shows work demonstrating an inaccurate workflow


	Average change per year of long-term trend [2 points]
	2 points:
Correct numerical answer
AND
Expresses answer in cm/year
	1 point:
Correct numerical answer but expresses answer in unit other than cm/year
AND/OR
Incorrect numerical answer but shows work with an accurate workflow (i.e., computational error)
	0 points:
No response provided 
OR
Incorrect numerical answer with no work shown
OR
Incorrect numerical answer and shows work demonstrating an inaccurate workflow



(c)
	Component
	Exemplary
	Basic
	Nonperformance

	Description of how the value changes during a 1-year period [2 points]
	2 points:
1 year period explicitly selected in student’s answer.
AND
Student accurately describes how the value changes during the 1-year period.
	1 point:
1-year period is not used.
AND/OR
Minor conceptual errors in the description.
	0 points:
No response provided 
OR
Incorrect numerical answer with no work shown
OR
Incorrect numerical answer and shows work demonstrating an inaccurate workflow


	Hypothesis for why the data vary during the 1-year period selected [2 points]
	2 points:
Scientifically accurate hypothesis.
AND
Hypothesis is explicitly supported in student’s answer by the data in the 1-year period selected.
	1 point:
Minor conceptual errors.
OR
2-point response but does not use the data to support the hypothesis.
	0 points:
No response provided 
OR
Incorrect numerical answer with no work shown
OR
Incorrect numerical answer and shows work demonstrating an inaccurate workflow



(d)
	Component
	Exemplary
	Basic
	Nonperformance

	[bookmark: _GoBack]Data-supported description of long-term trends in water storage as a proxy of reservoir health [3 points] 
	3 points:
Student accurately describes long-term trends in water storage as depicted by the time-series.
AND
Student accurately assesses reservoir health.
AND
Explicit link between reservoir health to water storage is included.
AND
Answer uses appropriate an temporal scale (i.e., long-term trends).
	1-2 points:
3 point answer with minor conceptual errors
AND/OR
Student accurately describes long-term trends in water storage and accurately assesses reservoir health but fails to explicitly refer to the time-series to support the conclusions.
AND/OR
Answer focuses on short-term, rather than long-term, trends.
	0 points:
No response provided 
OR
Major conceptual errors





